
КОМПЛЕКСНА КОНТРОЛЬНА РОБОТА 

Варіант № 1 

1. Fill in the gaps and explain your choice:  

arbitrary(adj); context(n); denote(v); devise(v); formulate(v); similar(adj); usage(n); assign(v); 

criterion(n); data(n); ignore(v); impact(n); summary(n); vertical(adj). 

1) Although not exactly identical, the two books are so _____________________ to each other 

that one author must have copied much of his book from the other. 

2) The Prime Minister set up a committee of financial experts to help him discuss 

and_________________ new policies. 

3) It is often possible to guess the meaning of a word from the other words around it – that is to 

say, the _____________________. 
 

2. Choose the right word and explain your choice:  
1) During the 1970's and 1980's, it became increasingly evident / visible that companies in the 

West were uncompetitive. 

      2) The United Kingdom makes / publishes more books than any other country. 

      3) There has been a major road accident, involving / including 23 cars and 16 lorries. 

4) In this first assignment, we will _______________________ your work and then give you 

detailed feedback on how to improve your writing. 

a. assess    b. judge   c. measure 

5) In a seminar or tutorial, everyone should take part rather than allow one person to 

_______________________ the discussion. 

a. overwhelm    b. dominate   c. oppress 

 

3. Write an essay on the topic: Local Political Scandals 


